VIDUMEZ TALK PROJECT REPORT.

INTRODUCTION.

Vidumez talk is a project that has been initiated by The Great African Foundation with the aim of reminding the society about the position of young men in African society. It also aimed at enlightening the society about the importance of preserving and protecting African cultures.

The project was launched this year on 3rd June 2023 at Arumeru district by District Commissioner Arumeru. The event had several activities including peace demonstration of going against western culture and embracing African culture, plenary talk, health seminars and other summit programs. The event started at 7:00 a.m and ended 6:00 p.m.The Guests who attended this event were organization leaders, political leaders, stakeholders, religious leaders, district youth officer, district medical officer, district commissioner, foundation patron Amb. Daniel Ole Njoolay and all foundation board of directors.

PROJECT OBJECTIVES AND GOALS.

The project targeted several objectives as follows:

- Eliminating all destructions brought on African culture.
- Going against all sexual harassments.
- Remind the society about the position of a young man,

The following are the goals of vidumez talk project:

- Protecting African culture and spreading it all over the world.
- Give awareness to the society about the position of young men.
- Eliminating sexual harassment cases in the society.

PROJECT BUDGET.

The following is the full budget of the Vidumez talk project.

Budget for 200 people (Breakfast and lunch.)

S/N.	REQUIRMENT	QUANTITY	PRICE @	TOTAL PRICE
1.	Milk	20litres	2000/=	40,000/=
2	Ginger	2kg	3000/=	6,000/=
3	Bagia	400	100/=	40,000/=
4	Sweet potatoes	2 buckets	20,000/=	40,000/=
5.	Eggs	4trays	12,000/=	48,000/=
6.	Sugar	6kg	3000/=	18,000/=
7.	Tea leaves	2 bunches	1000/=	2,000/=
8.	Groundnuts	6 kg	16,500/=	33,000/=
9.	Coffee	1tin	8,000/=	8,000/=
10.	Rice	24kg	2,800/=	67,200/=
11.	Green banana	2bunches	15000/=	30,000/=
12.	Irish potatoes	2 buckets	20,000/=	40,000/=
13.	Chicken	26	7000/=	182,000/=
14.	Cooking oil	20litres	2,250/=	45,000/=
15.	Meat	20kg	7000/=	140,000/=
16.	Cucumber	2sadolins	6000/=	6000/=
17.	Tomatoes	2sadolins	5000/=	10,000/=
18	Carrot	2sadolins	5000/=	10,000/=
19.	Green pepper	2kg	2000/=	4000/=
20.	Peas	2kg	7000/=	14,000/=
21.	Green beans	4kg	2500/=	10,000/=
22.	Pepper	2packets	500/=	1000/=
23.	Supermarket requirements	-	-	25000/=
24.	Cooking woods.	4 bunches	10,000/=	40,000/=
25.	Labor costs			120,000/=

TOTAL FOOD BUDGET=1,003,200/=

OTHER BUDGETS.

S/N.	REQUIREMENT	QUANTITY	PRICE@	TOTAL PRICE
1.	Entertainment (Music)	-	-	150,000/=

2	Advertisement costs	-	=	200,000/=
3	Transport costs.	-	1	150,000/=
4	Event decorations.	-	-	200,000/=
5.	Tent costs	4	40,000/=	160,000/=
6.	Chairs	200	300	60,000/=
7.	Drinks (water)	17 cartons	4200/=	71,400/=

TOTAL FOR OTHER BUDGETS =991,400/= TOTAL VIDUMEZ TALK BUDGET = 1,994,600/=

STAKEHOLDERS AND THEIR SUPPORT ON THE PROJECT.

The following are the stakeholders who took part in Vidumez talk and their support.

PARTNERS.

- International Youth Fellowship Venue support.
- > Young life Tanzania Music and 200,000/= cash for food budget.

SPONSORS.

- ➤ Halotel co.ltd. 20 cartons of water.
- Cocacola company chairs, tables and tent.
- > CWCD Peace demonstration banners and bodabodas.
- ➤ C.C.M Chairs
- \triangleright CEDHA 50,000/= for food budget.
- ➤ K.K.K.T Elerai 200,000 for food budget.

PROJECT IMPACT AND OUR CALL TO THE SOCIETY.

The project brought a great impact to the society including a great awareness to the society on the position of young men . This project made the society to stand firm on protecting African culture.

Our call to the society is that people should continue standing firm on protection of African cultures and understand and respect the position of young men in the society.

CONCLUSION.

We will like to thank all who took part in this project and made it successful. First, is thanking almighty God for being with us from the beginning to the end of our event .Second, is all partners and sponsors who supported our project I different ways and made it successful. Third, is all political and religious leaders who participated in our event. Fourth, is all district leaders including district commissioner Hon. Emmanuela Kaganda for her great Support ,district police officer and district medical Officer Dr.Petro Mboya.

Fifth is the foundation leadership lead by Amb .Daniel Ole Njoolay who is the foundation patron, hon. Maximillian Iranqe the Foundation trustee ,the board of directors and all other foundation leaders lead by Derick Joseph Ambrose who is the Chief Executive Officer. Lastly ,is thanking the committee which prepared and coordinated the event together with all the participants. May Almighty God bless all who were mentioned above.